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o 

𝑵𝒆𝒘 𝑽𝒐𝒍𝒖𝒎𝒆 𝒐𝒇 𝒕𝒉𝒆 𝒕𝒐𝒑 𝒃𝒂𝒏𝒌’𝒔 𝒔𝒆𝒄𝒖𝒓𝒊𝒕𝒊𝒆𝒔 =
𝑶𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝑺𝒆𝒄𝒖𝒓𝒊𝒕𝒚  𝑽𝒐𝒍𝒖𝒎𝒆 ∗ 𝟎. 𝟐

(𝑩𝒓𝒆𝒂𝒄𝒉𝒊𝒏𝒈 𝑩𝒂𝒏𝒌𝑽𝒐𝒍𝒖𝒎𝒆 𝑪𝒐𝒏𝒕𝒓𝒊𝒃𝒖𝒕𝒊𝒐𝒏)

▪ 

      𝑫𝒆𝒍𝒕𝒂 =   =
∑ (𝑩𝒓𝒆𝒂𝒄𝒉𝒊𝒏𝒈 𝑩𝒂𝒏𝒌𝑽𝒐𝒍𝒖𝒎𝒆 𝑪𝒐𝒏𝒕𝒓𝒊𝒃𝒖𝒕𝒊𝒐𝒏𝒔

 

 
− 𝟎. 𝟐)

∑ (𝑵𝒐𝒏 𝑩𝒓𝒆𝒂𝒄𝒉𝒊𝒏𝒈 𝑩𝒂𝒏𝒌𝑽𝒐𝒍𝒖𝒎𝒆 𝑪𝒐𝒏𝒕𝒓𝒊𝒃𝒖𝒕𝒊𝒐𝒏𝒔)
 

 

 𝑽𝒐𝒍𝒖𝒎𝒆 𝒐𝒇 𝒐𝒕𝒉𝒆𝒓  𝒃𝒂𝒏𝒌𝒔 𝒔𝒆𝒄𝒖𝒓𝒊𝒕𝒊𝒆𝒔 = 𝑶𝒓𝒊𝒈𝒊𝒏𝒂𝒍 𝑽𝒐𝒍𝒖𝒎𝒆 ∗ (𝟏 + 𝑫𝒆𝒍𝒕𝒂)
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• 

• 

• 
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𝒂𝒓𝒈𝒎𝒊𝒏𝜶,𝜷 ∑ 𝒘𝒊(𝒀𝒊 −  𝜶 − 𝜷 ∗ 𝑫𝑻𝑴𝒊)
𝟐

𝒊

𝑊𝑖 𝑎𝑟𝑒 𝑡ℎ𝑒 𝑐𝑎𝑝𝑝𝑒𝑑 𝑣𝑜𝑙𝑢𝑚𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑠𝑒𝑐𝑢𝑟𝑖𝑡𝑖𝑒𝑠  

𝐵𝑆𝐵𝑌𝑂𝑁 =  𝛼𝑂𝑁
∗ + 𝛽𝑂𝑁

∗ ∗ 1   𝑤ℎ𝑒𝑟𝑒 𝛼𝑂𝑁
∗ 𝑎𝑛𝑑 𝛽𝑂𝑁

∗  𝑚𝑖𝑛𝑖𝑚𝑖𝑧𝑒 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑎𝑏𝑜𝑣𝑒 𝑓𝑜𝑟 𝑡ℎ𝑒 𝑂/𝑁 𝑡𝑒𝑛𝑜𝑟 𝑏𝑎𝑛𝑑

𝐵𝑆𝐵𝑌1𝑀 =  𝛼1𝑀
∗ + 𝛽1𝑀

∗ ∗ 30   𝑤ℎ𝑒𝑟𝑒 𝛼1𝑀 
∗ 𝑎𝑛𝑑 𝛽1𝑀

∗  𝑚𝑖𝑛𝑖𝑚𝑖𝑧𝑒 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑎𝑏𝑜𝑣𝑒 𝑓𝑜𝑟 𝑡ℎ𝑒 1𝑀 𝑡𝑒𝑛𝑜𝑟 𝑏𝑎𝑛𝑑

𝐵𝑆𝐵𝑌3𝑀 =  𝛼3𝑀
∗ + 𝛽3𝑀

∗ ∗ 90   𝑤ℎ𝑒𝑟𝑒 𝛼3𝑀
∗ 𝑎𝑛𝑑 𝛽3𝑀

∗  𝑚𝑖𝑛𝑖𝑚𝑖𝑧𝑒 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑎𝑏𝑜𝑣𝑒 𝑓𝑜𝑟 𝑡ℎ𝑒 3𝑀 𝑡𝑒𝑛𝑜𝑟 𝑏𝑎𝑛𝑑

𝐵𝑆𝐵𝑌6𝑀 =  𝛼6𝑀
∗ + 𝛽6𝑀

∗ ∗ 180   𝑤ℎ𝑒𝑟𝑒 𝛼6𝑀
∗ 𝑎𝑛𝑑 𝛽6𝑀

∗  𝑚𝑖𝑛𝑖𝑚𝑖𝑧𝑒 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑎𝑏𝑜𝑣𝑒 𝑓𝑜𝑟 𝑡ℎ𝑒 6𝑀 𝑡𝑒𝑛𝑜𝑟 𝑏𝑎𝑛𝑑

𝐵𝑆𝐵𝑌12𝑀 =  𝛼12𝑀
∗ + 𝛽12𝑀

∗ ∗ 365  𝑤ℎ𝑒𝑟𝑒 𝛼12𝑀
∗ 𝑎𝑛𝑑 𝛽12𝑀

∗  𝑚𝑖𝑛𝑖𝑚𝑖𝑧𝑒 𝑡ℎ𝑒 𝑠𝑢𝑚 𝑎𝑏𝑜𝑣𝑒 𝑓𝑜𝑟 𝑡ℎ𝑒 12𝑀 𝑡𝑒𝑛𝑜𝑟 𝑏𝑎𝑛𝑑
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https://www.bloomberg.com/professional/product/indices/bsby/
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https://www.investopedia.com/articles/pf/13/calculating-your-tangible-net-worth.asp
https://www.investopedia.com/terms/a/accountspayable.asp
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